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1

T Apply the mathematical

£0nCepts for solving differential equations.

CO-2  : Apply the concept of Laplace Transform 1o solve differential equations
o3 Apply the concept of Convergence in sequence, series and expansion of the function by Fourier series.
g gf  Apply the working methods of complex functions to find analytic functions.

>3

* Apply the conoept of Taylor's series and Laurent's series for complex function and evaluation of integrals.

Section — A # 20 Marks (Short Answer Tvype Questions)
Attempt ALL the questions. Each Question is of 2 marks (10 x 2 =20 ma rks)

QNQ == {*cox - Question Description & Attempt ALL the questions. Each Quastion is of.2 marks RN S N s T ‘]
i (K |co1 | Y 8
W . ; . dy 2o &) _
The degres and order of the differential equation | —= | — 6x°| —| =0 are...and...
| dx dx
%4 { CO1

T
Find the Particular Integral of{D? — 2D + 1)y = e*x3. _%X-BL /

Uf;coz

|

t-a
Find Laplace Transform of F(t) = {e 0' ; z Z.

[ | coz

i Find Laplace Transform of cosht. sin 2t.

{5 | CO3 | piscuss convergence of {1,2,23,23,..} Div

‘f.'}' \ CO3 | Find Fourier coefficient a, for f(x) = xcosx in—7 <x < .
|G " Cos \ Find Invariant points of transformation w = :—i:—
\ H ) \ CO4 ‘ Define conformal mapping.

1 eos

idz.

1
Zi=2 z2+1

; Evaluate j;

[- 7]

j Define singular point an analytic function. Find nature and location of the singularity of f(z) = "%

Section— B #30 Marks ng / Medinm Answer Type Questions
Attempt ALL the questions. Each Question is of 6 marks (5 x 6 =30 marks)

| dx . .
{ Solve the simultaneous equations z-!— S5x-2y= t,%+ 2x+y =0 being given x =0,y =0 when =0
| Vfﬁ/ ! OR
€o-1) | =
' A R s o~} = 3 reapr d y 1 [ @ e 2. _—COSx .
| Solve by changing the independent variable F-i— (3 sinx—cot x);+2ysm X=e smzx.
i
. ; Find the Laplace Transform of the triangular wave function of period 2c given by f(t) = {Zc _tz A ?<< Ztcs e
(CO-2) o o OB
| | Using Lzplace Transform, si)];'e mm::l:alue problem =z +9y=6cos 3t;y(0) =0 ,¥'(0) = 0
1 x
ﬁ Test convergence: 1+ 2+ Zx2 4 s e
o1 . OR
| (CO-3) | Find the half-range sine series of f(x) = (Ix — x?) in the interval (0,1). Hence, deduce that
] = _ 1 1 1
i '3—2'—1 33+'5—:—7—3+....
— x3(1+1)-y3(1-i)
| , i : e . )
| | Prove that the function f(2) defined by f(2) = *':’z o satisfies C.R. equations at the origin, yet f'(0)
i A does not exist.
rco-) i . OR
; | Show that u(x,y) = X* = 4xy — 3xy? is harmonic. Find_ its harmonic conjugate v(x,y) and the corresponding analytic

__——LMMQ= u+iv.




Verify Cauchy’s theorem for the function f(z) = 3z2 + iz — 4 along the perimeter of the square with \,‘
1+i,-1%1i.

State Cauchy lntegml formula.

Hence evaluate [, ——dz where C is the circle |z — i| = 2.

C (z2+4)? BT

Section — C_# 50 Marks (Medium / Long Answer Type Questions
Attempt ALL the questions. Each Question is of 10 marks.

0-1) Attempt any TWO questions. Each question is of 5 marks. T
\/ Solvc?——t} -+ 4y = 8(e?* +sin2x + x?)
. An R-L circuit has an e.m.f. given(in volts) by 4 sin t, a resistance of 100 ohms, an inductance of 4 henries with
) no initial current, Find the current at any time t. .
}// ‘- ' i ] n 2 d 2}’ dy —2x
4 Use the variation of parameter method to solve the differential equation x ? + x-; —y=xe.
Q.8 . S
I (CO-2) Attempt any TWO questions. Each question is of 5 marks.
/ , Find Laplace Transform of e—%t fou;“izf dt
Find the inve (ms_
, I rse Laplace Transform of log 2+2p+s)
/ J State Convolution Theorem and hence evaluate L1 {z—p—}
(P2+1)(p%+4)
Q9 NE question. Each question is of 10 marks
(CO-3) Attempt any O question. Each question is o marks.
. . . : ) . x < !
Obtain the Fourier series for the function f(x) = [ xx On <<x < nO and hence, show that
a. 1 o T L 1 i, w2
52 - 8"
. X O <x<1
. . . — ’ 1 2
b. Find Fourier Series for function f(x) {1 lxl<x<2 and hence deduce that Do G = 1!_
Q.10 Attempt any TWO questions. Each question is of 5 marks. T
(CO-4) :

Find Mobius transformation that maps points z = 0, —i, 2i into the points w = 5i'°°»“il‘e8pectiVely

F ind the analytic function f(2) = u +iv, ifu—v = (x — y)(x? + 4xy + y?), =)

Show that f(z) = log z is analytic everywhere in the complex plane except at the origin and its derivative jg

‘_\Z.h

: §
OR S

Attempt any ONE question. Each question is of 10 marks, e

7\‘\ e ATt
prdnd( 2““3) in the regions: Ml <1 Ml < |z| <3, gl{) |z| > 3, Ml <lz+1 <2,

b.

State Cauchy’s Residue Theorem.

Determine the poles and residues at each pole for: and hence evaluate

(ZH)’( -2)

45C f(2)dz, where C is the
circle |z —i| =2
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cO-1 : Understand the concepts of quantum mechanles

0-2 . Derive the expression for EM-wave using Maxwell's equations

c0-3 : Deseribe the different phenomena of light and its applications

C0-4 : Understand the concepts and applications of fiber optics and LASER

C0-5 : Understand the propertics and applications of superconducting materials and nano materials

Section = A 1420 Marks (Short Answer Type Questions)

Attempt ALL the questions. Fach Question s of 2 marks (10 x 2 =20 marks)
\ 0Q.No. | COx| L 6&':5.“_(»“ l)(".cr_jl-)l'if;y’nj({ /\_i@npl ;\l,l, !i’? questions, Each Question is of 2 marks 1
[ *4( COl| Discuss the physical interpretation of wave function. |
\ COI| Why matter waves arc associated with a particle generated when only it is in motion? | ]
\’ CO2 Show that magnetic ll.l(;il;;p;)i;:(;-(!(l n_o”lj(;l:;l l
\ CO21 Discuss depth of penetration in conducting medium, l
"‘ ¥\ cos| Write the main condition for sustained interference. l

CO3| State lﬂ{ny\cip,nh cri\cr.i(;n oiruml“l]u(n-] /
COoAal Differentiate between spontancous and stimulated emission of radiation. Which one is
..... | required for laser action? ' \
CO4|_Explain the principle ofopcration of an optical fibre.
- Cos| Definc ersistent current hnd critical temperature,
_J/l/] CO5| Write ('Imw'_fgij/‘.’c of nano particle with propertics.
Section — B _# 30 Marks (Long / Medium Answer Type Questions)
Attempt ALL the questions. Each Question is of 6 marks (6 x 5 =30 marks)

e

'y./f((,‘()-l) : Find the two lowest permissible energy states for an celectron which is confined in one
dimensional infinite potential box of width 3.5 X10”m

OR
Find de Broglic wavelength of alpha particle accelerated through 200 volt,

3 (CO-2) : The Earth receives 2 cal/(cm® min) cenergy from Sun, What will be the peak values of
clectric and magnetic field?
OR
What do you mean by Poynting vector? Write its dimension and unit also. Also calculate the

magnitude of Poynting vector at the surface of the Sun, Given that i sl
) sun, power radiated by Sun is 5.4 X
10" W and its radius is 7 X 10" m, |

(MCO-}) : A diffraction grating used at normal incidence gives a
spectral order superimposed on a blue line (2, = 4800A) of next hi
is gin” (3/4), calculate the grating clement.

yellow line (A = 6000A) in a certain
gher order. If the angle of diffraction

OR

Light of wavelength 6000 A falls normally on a thin wedge shaped film of refractive inacx 1.4 e
forming the fringes that are 2 mm apart. Find the angle of wedge 4.0061 - = 4 *




and 13K. Calculate the transition temperature and critical field at(
% \:{;% Kand 4.2 K.
(AR OR
g\‘g)? \'S:‘)Vrile a short note on Bottom -Up approach of Nanomaterials synthesis. Also explain Sol Gel method

i

(CO-4) : A communication system uses a 20 km long ﬁbe%ha;/ingla l.?,SSJf 2.2dB/km. The l‘\

power is 2700pW, Compulc the output power. Lol éXlo 5 \‘ \'
OR '

Calculate the population ratio of two states in He-Ne laser that producers light of wavelength 620 /‘_

at 300K o

- 5 5 -.
Q.6 (CO-5) : For a specimen of superconductor, the critical fields are 1.2x10° and 3.6x10° Afm
respectively for temperature 14K

in detail

Scction — C # 50 Marks (Long Answer Type Questions)

Attempt ALL the questions. Each Question is of 10 marks.
Q.7(CO-1): Attempt an

Y ONE question. Each question is of 10 marks.
a. Describe the experim

ent of Davisson and Germer to demonst
b. Explain the reason why Compt

for time dependent Schrodinge
marks)

(10x1=10 marks)
rate the wave character of electrons.
on Effect is not observed in visi¥ pactrum. Derive a suitable expression

I wave equation. (2+8

IL 4
8 (CO-2) : Attempt any ONE question. Each question is of 10 marks.

a. Derive the equation for the propagation of plane electromagnetic wave in free
the velocity of plane electromagnetic wave in free space is given by ¢

(10 x 1 =10 marks)
space. Show that

=1/\/1 [1g€, and also show that

electric and magnetic vectors are normal to

the direction of Propagation of electromagnetic wave
(2+4+4 marks)
vb./State and deduce Poynting theorem for the flow of energy in an electromagnetic field and write
Maxwell’s equations in integral form.

(2+6+2 marks)
L,Q.'\{(COJ) : Attempt any ONE question. Each question is of 10 m
a. Discuss the phenomena of Fraunhofer’

successive maximas are nearly
1:(4/97% : (412577 ; . -
\,bé(plain the formation of Newton’s rings. Show that diameter for b
square root of odd natural number and for dark ring, diameters are
natural number. '

arks.

(10x1=10 marks)
and show that relativ

s diffraction at a slijt e intensities of the

right rings are proportional to
proportional to square root of

(2+8 marks)
.10 (CO-4) : Attempt any TWO question. Each question is of 5 marks,

Sx2=10 marks)
-+ Explain different types of optical fibre based on materials, modes and refractive index..
b. Describe the principle and working of Ruby laser system. Compare it with He

-Ne laser.,
2 Derive the expression of acceptance angle and numerical aperture in optical fibre,

Q.11 (CO-5) : Attempt any TWO.question. Each question is of 5 marks.
a. Write a short note on Top-down approach of Nanomaterials s

vapour deposition method (CVD).

b. Discuss Meissner effect. Show that the perfect diam
independent and essential properties of the superconductor

c. Differentiate between type |

also. _ :

e ———

5x2=10 marks)
ynthesis. Also explain chemical

agnetism and zerg resistivity are two

and type II superconductors. Discuss high temperature superconductors



“ (? ROINO. : vervrrrsrvrrrnsssn,
«,{4( MEERUT INSTITUTE OF ENGINEERING AND TECHNOLOGY
y ) ?
i t
Y . , .
| i NH-58, Delhi-Roorkee Highway, Baghpat Road, Meerut - 250 005 U.p
()5 N -

. I7/23
/.-,;1’6, Pre University Test (PUT): Even Semester 2022-23
@ ursefBranch : B Tech (All)

Semester M
sbject Name : Programming for Prohlem Solving Max. Marks  :100
subject Code  : BCS201 Time : 180 min
C0-1  : Translate the algorithms to programs & perform ils execution.
C0-2  :Implement conditional branching structure along with use of operalors.
CO0-3  : Uso looping instructions, arrays and structures to develop programs.
CO-4  : Decompose a problem into functions and synthesize a complete program.
CO-5

: Utilize the pointer, file handling, dynamic memory allocation to solve the problems.

Section — A_{#1 20 Marks (Short Answer Type Questions)

Attempt ALL the questions. Each Question is of 2 marks (10 x 2 = 20 marks)
Q. No. | COx

Question Description # Attempt ALL the questions. Each Questlon is of 2 marks /
CO1 | Define syntax error, runtime error & logical error. (BKL: K1-K2 Level). '\
\
\

_E;r;iain the structure of C program using example? (BKL: K1-K2 Level).

“Differentiate between else if ladder & switch statement. (BKL: K1-K2 Level).

co2 | Write the codza]eap year using conditional operator. (BKL: K1-K2 Level).

How entry control loop & exit control loop differs. (BKL: K1-K2 Level).

What is the role of break & continue in loops. (BKL: K1-K2 Level).

What is array of structure? Give proper example (BKL: K1-K2 Level).

Write short note on enumerated datatype with syntax. (BKL: K1-K2 Level).

What is special about void ‘[mi/ntgg?’Gi_\LELi KL: K1-K2 Level).

What is double pointer ami how is it initialized? (BKL: K1-K2 Level).

Section —B_# 30 Marks {Long / Medium Answer Type Questions)

Attempt ALL the questions. Each Question is of 6 marks (5 x 6 = 30 marks)

‘Q{(co-n: What are the major functional units of a digital computer? Explain each with suitable block diagram.
OR

Write the algorithm to generate Fibonacci series of n terms & draw the flowchart to find the largest of 3 numbers.
ga’(fo-z): What are the rules for switch statement? Write a program to draw calculator using switch statement.
OR

Write a program to print the roots of quadratic equation for real roots & otherwise print imaginary roots.

i o T




%
\

i ng number or \
»Q{ (CO-3): What are storage classes? Write 3 program to check whether the number is Armstro g or)
OR

ser.
V\N/rite a C function to find the sum of following series X114 X321 + o ] p— Upto n terms entered by user

\@CO»ZI): What are searching techniques? Write a C program to search a s
OR

pecific number using binary search.

What is preprocessor directive? Explain the roje of #define, tinclude & #ifdef directives with suitable example. X

Section—-C #50 Marks (Medium / Long Answer Type Questions)

Q.7 (CO-1): Attempt any TWo Questions. Each question is of 5 marks.

- Write the difference between low leve| language & high leve| language.

b. What are difference betweeq))/compiler & interpreteg,u«)’ﬁnker & loader?

c. Define data types. Discuss Primitive data typesin terms of memory, range etc, X

LQ./S‘(CO-Z): Attempt any TWO questions. Each question is of 5 marks.

\S/Write a program to check whether the given character s uPper, lower, numeric or symbol.
,,Q@ (CO-3): Attempt any ONE question. Each question is of 10 marks,

v’ Write difference between structure & union. Write 3 pro

gram to multiply two square matrices of dimension N X v
(3 X 3) and store the result in another matrix,

b. Define string, Explain predefined string functions, Write a program to reverse the string without strrev() function.

M(CO#): Attempt any ONE question. Each question is of 10 marks.
LA\/hat are actual & formal parameters? Discuss types of parameter i

e Fibonacci Series using recursion,X
1 (CO-5): Attempt any ONE question. Each question is of 10 marks.

What is linked list? Write the self-referential structure of a node in linked list? Explain the command line argument
d. Ll

in C with suitable example,

numbers in file odd.txt & even numbers in file even.txt.

———
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h.Q..M > Apply Kirchhoff's laws in solving DC Circuits,
-2 Understand :
C 0- = et M:m zmm% state behavior of single phase and three phase AC ts.
CO-3 : fy application area: i WO Wi o oo,
i s of a single phase two inding transformer and calculate th
ulate their
CO~4 : Elabo i i
. _u.::ﬂ the So.:::w principle of AC and DC machines with their applicati
CO. < Explain the working of low voltage electrical installation equipment o

Section — A_# 20 Marks (Short Answer Type uestions
Attempt ALL the questions. Each Question is of 2 marks (10 x 2 =20 marks)

Q. No.| COx{ Attempt ALL the questions. Each Question is of 2 marks
1 \h‘ O1| Define current source with its V-I characteristics? (BKL : K1-K2 Level)
COl| What are Linear and Non lincar elements with examples. (BKL : K..Kn.rnéc

CO2| Define the quality factor of RLC serics circuit at resonance. (BKL : K1-K2 Level)
CO2| What arc Advantages of three phase systems over single phase systems? (BKL : _A.T

K2 Level).
Define the permeance and reluctance of the magnetic circuit. (BKL : K1-K2

O'
D
\T\oou
] Level).
M\

CO3| What will happen if primary of transformer is connected to dc supply? (BKL : K1-

Rwrnéc.
04| What will be change in emf induced if flux is reduced by 20% and the speed is
) increased by 20% in DC generator? (BKL : K1-K2 Level).

-K2 Level).

CO4] What is slip? Why Nr <Ns in three phase induction motor. (BKL : K1
Draw the clectrical characteristics of a battery. (BKL : K1-K2 Level).

H
| cos
| What is Bus-Bar? (BKL : K1-K2 Level). s

CO3|

Answer T uestions

£6 marks (5 x6=30 marks)
L >= K3 Level).

B # 30 Marks (Lon / Medium
ion is 0
figure using mesh analysis. (BK

Section —
Attempt ALL the questions. Each Quest
wn in

Q2 (CO1): Find the current in 8 Q & 10 Q sho

.\ 7 ohm

12 ohm s ohm

3 %Obv : Explain the phenomenon of resonance 1

(¢ ;

YEOR R

Find the current I; & Iz shown in figure using mesh analysis. (BKL >= K3 Level).
10 8Q
—t b!l(ldll

8Q

i)
DT
»J B
e
A
o]
L)

in series R L C nN. Derive Sn.nxu_l«..on._.o_.
resonant frequency and draw resonance Curve. Why series RLC circuit at resonance is called

accepter ckt? (BKL >= K3 Level).
OR j
rrent in case of three phase Delta

Derive the relation between line current & phase cu . A
connected system.. Three identical coils of resistance 4 Q and inductive reactance 3 Qare
connected in star across 415V mains. Determine power, power factor and line current. (BKL

>=K3 Level).

%& : How many types of losses in transformer also derive the' condition for maximum
efficiency of transformer. (BKL >=K3 Level). 3

OR ;
Differentiate between electrical circuit and magnetic circuit. A wrought iron bar 30 cm long
and 2 cm in diameter is bent into a circular shape. It is then wound with 1000 tumns of
wire.Calculate the current required to produce a flux of 50 mwb in magnetic ckt with an air

. gap of 1 mm.Assume pr=2000. (BKL >=K3 Level).

Q.5 (CO-4) : Draw.and explain slip-torque characteristics of 3-@ induction motor and mention

all regions of operations. :
has a full load speed of 1450 rpm. Calculate:- i)slip i) -

A 3-phase, 50 Hz, 4 pole, induction motor
frequency of rotor induced e.m.f iii) speed of rotor field w.r.t rotor structure iv) speed of rotor
field w.r.to stator structure vi) speed of rotor field w.r.to stator field.. (BKL >= K3 Level).

OR :
Discuss why single phase induction motor is not scif starting? What are its methods
of starting?Explain any two types with phasor diagram. (BKL >~ K3 Level). ;

v W\m\%v : Write short notes on:
(i) SFU (ii) MCB  (iii) MCCB

6 ohm

& § : : =isv g O :
vu NY - How many types of Earthing explain any one In detail ? An alkaline cell is discharged at a steady
& o current of 4 ampere, the average terminal voltage being 1.2 V. Ta restore it to original state of
\W/ Ve—n voltage, a steady current of 3 A for 20 hours Is required, the average terminal voltage being 1.44 V,
. "q So:uaun.,o.roc_, efficlency of the battery Is 80% calculate the backup of a battery, (BKL >= K3
.evel). :

N
ot )
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Pre University Test (PUT) : EVEN Semester 2022-23 ' 3/7 / 2 J
ranch : B Tech. (EP 1,2,3,4,5,6,7,8,9,10,11,12,13,14) Semester 11
frr;‘ Name : ENVIRONMENT & ECOLOGY Max. Marks : 100
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ol ¢ On completion of this course, the student will be able to understand basic concepts related to ecosystem,
f4 and need of sustainable development.
c0-2 : On completion of this course, ihe student will be able to understand about natural resources and impacts of
of human actions on natural resources.
C0-3 : On completion of this course, the student will be able to develop critical thinking for environmental

pollution and environmental protection.
CO-4 : On completion of this course, the student will be able to understand various current environmental issues

and concerns of national and global importance.
CO-5 : On completion of this course, the student will be able to develop sensitive attitude to adopt sustainability as

a practice in life, society and industry.
Section — A # 20 Marks (Short Answer Type Questions)
Attempt ALL the questions. Each Question is of 2 marks (10 x 2 =20 marks)

COxl  Question Description # Attempt ALL the questions. Each Question is of 2 marks -
CO1| What are the segments of environment? (K2) '
COl\ What is the concept of sustainable development? (K2)
COZ\ What are the causes and impacts of deforestation? (K2)
\ b M COZ\ ‘What are natural resources? Classify them (K2) .
[ &1 co3| What is biomagnification? (X2)
T-\}/\ C03\ What is eutrophication? (K2)
C04‘ What are various population characteristics (attributes)? Give list only. (K2) J
J CO4| Distinguish between primary and secondary pollutants giving examples. (K2)
.11 CO5| What do you understand by TFR and IMR? (X2)
J | CO5| What a “hazardous substance” is as defined in Environmental Protection Act, 19867 (K2)
Section — B # 30 Marks (Long / Medium Answer Type Questions)
Attempt ALL the questions. Each Question is of 6 marks (6 x 5=30 marks)
Q.24CO-1) : What is EIA? With the help of a flow chart, describe EIA process. (K3)

OR ’
Critically evaluate the environmental problems associated with modern agriculture and mineral extraction. (K5)

(9560-2) : Discuss the causes and impacts of Fluoride and Arsenic problem in drinking water. (K4)
o OR
Discuss water borne & water induced diseases with examples. (K2)
o Q.4 (CO-3) : What is smog? Discuss the causes and effects of photochernical and sulphurous smog? (K4)

OR
Critically examine the environmental impacts of burning of paddy straw openly. (K4)

Q.5 (CO-4) : Discuss the problem of automobile pollution and suggests suj i
= g su)table ways and means 1o control it. (K3)

Discuss population explosion in Indian context. Discuss the factors resp;ms'i,l for population explosion § o Sk
should be the objectives of a sound population policy? (K2) e S oA 1 Tndue: What

Q.6 (CO-5): Environmental education can play an important role in environmental protection. Justi V
menial edu on mporiank protecton. Justify (KS)

- Discuss role of Government regarding protection of environment. (1(2). |




Section — C_# 50 Marks (Medium / Long Answer Type Questions '
Attempt ALL the questions. Each Q

uestion is of 10 marks.
\_Q%‘O—l) . Attempt any ONE question. Each question is of 10 marks.

a. With the help on neat sketch discuss the s
atmosphere and related phenomenon. (K3)

{ Vb/ What is mean by structure of an ecosystem? E

tructure of atmosphere along with temperature profile of

xplain the various components of an ecosystem structure.
Discuss the function of an ecosystem also. (K2)

: ﬁhat are ecological pyramids? Discuss their types. Also mention which pyramid is always upright and why?
X3)

Q.8 (CO-2): Attempt any ONE question. Each question is of 10 marks.
/Give a brief account of conventional and non-conventional energy resources giving suitable examples. (X2)
b. Describe various environmental movements held in India for conservation of environment. (K2)

c. Define biogeochemical cycle. With a neat sketch, explain Nitrogen and Sulphur cycle in nature. (K3)

L}Z{(COG) . Attempt any ONE question. Each question is of 10 marks.
at is air pollution?
(K4)

prWrite a detailed note on waste water treatment plant with physical, biological and ¢

hemical processes. (X2)
c. Describe in brief the concept of solid waste management with the basic problem involved in it. Distinguish

between incineration, combustion and pyrolysis methods of solid waste disposal. (K4)

What are its causes & effects? Discuss the measures used for controlling air pollution.

MOA) : Attempt any ONE question. Each question is of 10 marks.
\)/What is acid rain? What are the causes and effect of acid rain? How can be problem be overcome? (K4)

b. What are greenhouse gases? Discuss the phenomenon of ‘Greenhouse Effect’. What are its effects? What
remedial measures you suggest? (K4)

c. What is ozone hole or ozone layer depletion? What are the causes of ozone hole formation? Discuss the
effects of ozone layer depletion and its remedial measures. K4

1 (E?) Attempt any ONE question. Each question is of 10 marks.
&>~ Briefly discuss the salient features of E

e nvironment (Protection) Act, 1986. (K2)
. Discuss the importance of women educa

tion for the success of the schemes relating to environmental quality
management and public health. (K2) ‘
c. Discuss the role of Non-Governmental Organizations (N GOs) in public awareness and environmental
protection. (K2). . - / 7 :




